
x5

13

x

6

5

x
2 + 52 = 13132

x
2 = 169169169 − 2525

x2 = 144144144

x > 0だから

x = 1212

6
2 + 52 = x2

x2 = 3636 + 2525

x
2 = 6161

x > 0だから

x = 6161

⑤④

x

10

7

x 3

7

7
2 + x2 = 10102

x2 = 100100100 − 4949

x
2 = 5151

x > 0だから

x = 5151

x
2 + 32 = 72

x2 = 4949 − 9

x
2 = 4040

x > 0だから

x = 2 1010

③②

　次の直角三角形で、残りの辺
の長さを求めよ。

x

4

3

氏名　　　　

３年　　　組　　　番　

4
2 + 32 = x2

x
2 = 1616 + 9

x2 = 2525

x > 0だから

x = 5

①

三平方の定理 １

x2

5

x

3

7

x
2 + 22 = 52

x2 = 2525 − 4

x
2 = 2121

x > 0だから

x = 2121

3
2 + ( 7 )2 = x

2

x
2 = 9 + 7

x2 = 1616

x > 0だから

x = 4

⑤④

x

6

5

x7

8

5
2 + x2 = 62

x2 = 3636 − 2525

x
2 = 1111

x > 0だから

x = 1111

x
2 + 72 = 82

x2 = 6464 − 4949

x
2 = 1515

x > 0だから

x = 1515

③②

　次の直角三角形で、残りの辺
の長さを求めよ。

x

5

2

氏名　　　　

３年　　　組　　　番　

5
2 + 22 = x2

x2 = 2525 + 4

x
2 = 2929

x > 0だから

x = 2929

①

三平方の定理 ２



15

17

x

x

7

5

x
2 + 15152 = 17172

x
2 = 289289289 − 225225225

x2 = 6464

x > 0だから

x = 8

x
2 + 52 = 72

x2 = 4949 − 2525

x
2 = 2424

x > 0だから

x = 2 6

⑤④

x

5

11

6

10

x

5
2 + ( 1111 )2 = x

2

x2 = 2525 + 1111

x
2 = 3636

x > 0だから

x = 6

x
2 + 62 = 10102

x
2 = 100100100 − 3636

x2 = 6464

x > 0だから

x = 8

③②

　次の直角三角形で、残りの辺
の長さを求めよ。

x

7

3

氏名　　　　

３年　　　組　　　番　

7
2 + 32 = x2

x2 = 4949 + 9

x
2 = 5858

x > 0だから

x = 5858

①

三平方の定理 ３

x

125

x

3 3 5

5
2 + 12122 = x2

x
2 = 144144144 + 2525

x2 = 169169169

x > 0だから

x = 1313

x
2 + 32 = (3 5 )2

x
2 = 4545 − 9

x2 = 3636

x > 0だから

x = 6

⑤④

x

4

7

x8

9

7
2 + 42 = x2

x2 = 4949 + 1616

x
2 = 6565

x > 0だから

x = 6565

x
2 + 82 = 92

x2 = 8181 − 6464

x
2 = 1717

x > 0だから

x = 1717

③②

　次の直角三角形で、残りの辺
の長さを求めよ。

x

5

3

氏名　　　　

３年　　　組　　　番　

3
2 + x2 = 52

x
2 = 2525 − 9

x2 = 1616

x > 0だから

x = 4

①

三平方の定理 ４


